

### Srihari Seshadri :: Unofficial Academic Record as of 03 May 2011

Name: Seshadri, Srihari

College: School of Computer Science

Department: Computer Science
Major: Computer Science

### \_\_\_\_\_

### **Beginning of Undergraduate Record**

UNITS

FINAL

### **Advanced Placement / Transfer Credits**

## ADVANCED PLACEMENT CREDIT DPT CRS # COURSE TITLE

				GRADE		
PHY	33111	PHYSICS I SCI STUDNT	12.0	AD		
CS	15111	INTERM ADVAN PRGMING	10.0	AD		
CS	15100	INTRO INTERM PRGMNG	10.0	AD		
SDS	88012	AP GOVT&POLITICS:US	9.0	AD		
MSC	21122	INTGR DIFF EQUA APPX	10.0	AD		
MSC	21120	DIFFERENTIAL INT CAL	10.0	AD		
	TOTAL AP / TRANSFER CREDIT 61.0					

### 2008 / 2009

Fall 2	800			De	ean's List	
DPT	CRS #	COURSE TITLE	E	UNITS	FINAL GRADE	QUALITY POINTS
CS	15123	EFFCTV PGMMNG C UNIX		9.0	Α	36.0
CS	15128	FRSHMN IN	MGRATN COURS	1.0	Р	0.0
MSC	21127	CONCEPTS	OF MATHMTCS	9.0	Α	36.0
MSC	21259	CALCULUS	IN 3-D	9.0	Α	36.0
ECO	73100	PRINC OF I	ECONOMICS	9.0	Α	36.0
ENG	76101	INTERPRETN & ARGMNT		9.0	Α	36.0
CMU	99102	CMPTNG CARNEGIE MELL		3.0	Р	0.0
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS
Semes	ter	49.0	45.0	4.00		180.00
Cumulative		49.0	45.0	4.00		180.00

### **NOTE**

As required by the Family Rights and Privacy Act of 1974, information contained on this document is confidential and may not be released to a third party.

## Srihari Seshadri :: Unofficial Academic Record as of 03 May 2011

Sprin	g 2009				Dean's Li			
DPT	CRS #	COURSE TITL	E	UNITS	FINAL GRADE	QUALITY POINTS		
CS CS ECE MSC PHI PHI	15211 15251 18100 21241 80100 80102	FUND DATA STRUCT ALG GRT THEORTICAL IDEAS INTRO ELEC COMP ENG MATRIX ALGEBRA INTRO TO PHILOSOPHY HONRS WHAT IS PHILOS		12.0 12.0 12.0 9.0 9.0 3.0	A A A A	48.0 48.0 48.0 36.0 36.0 12.0		
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS		
Semes		57.0 106.0	57.0 102.0	4.00 4.00		228.00 408.00		
Sumn	ner 1 200	na						
DPT	CRS #	COURSE TITL	Е	UNITS	FINAL GRADE	QUALITY POINTS		
STA BA	36217 70311		O RNDM PROC BEHAVIOR	9.0 9.0	A A	36.0 36.0		
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS		
Semester Cumulative		18.0 124.0	18.0 120.0	4.00 4.00		72.00 480.00		
Summ	ner 2 20(	20						
DPT	CRS #	COURSE TITL	Е	UNITS	FINAL GRADE	QUALITY POINTS		
MSC PHY BA	21260 33104 70451	EXPERIMN	_ EQUATIONS TL PHYSICS FORMATN SYS	9.0 9.0 9.0	A A A	36.0 36.0 36.0		
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS		
Semes		27.0 151.0	27.0 147.0	4.00 4.00		108.00 588.00		

### **NOTE**

As required by the Family Rights and Privacy Act of 1974, information contained on this document is confidential and may not be released to a third party.

## Srihari Seshadri :: Unofficial Academic Record as of 03 May 2011

CS 15213 CS 15451 ECE 18200 ECE 18220 ECE 18290	ALGORITHM DE EMERGING TRE ELETRONC DEV	ES & ANLS ENDS ECE	UNITS 12.0 12.0 1.0 12.0	FINAL GRADE A A P A	QUALITY POINTS  48.0 48.0 0.0
CS 15213 CS 15451 ECE 18200 ECE 18220	INTRO COMP S ALGORITHM DE EMERGING TRE ELETRONC DEV	ES & ANLS ENDS ECE	12.0 12.0 1.0	GRADE  A A P	POINTS 48.0 48.0 0.0
CS 15451 ECE 18200 ECE 18220	ALGORITHM DE EMERGING TRE ELETRONC DEV	ES & ANLS ENDS ECE	12.0 1.0	A P	48.0 0.0
ECE 18200 ECE 18220	EMERGING TRE	ENDS ECE	1.0	Р	0.0
ECE 18220	ELETRONC DEV			•	
		/C ANL CR	12 0	Δ	40.0
ECE 18290	CICNALC 0. CV		12.0		48.0
	SIGNALS & ST	SIGNALS & SYSTEMS			48.0
MSC 21301	COMBINATORICS		9.0	Α	36.0
STU 98130	TECHNQ WEB I	TECHNQ WEB INTERFACS		Р	0.0
		JNITS FACTORABLE	FINAL QPA		TOTAL POINTS
Semester	61.0	57.0	4.00		228.00
Cumulative	212.0	204.0	4.00		816.00

Spring 2010 Dean							
DPT	CRS #	COURSE TITLE		UNITS	FINAL GRADE	QUALITY POINTS	
CS	15221	TECHNCL CO	MMUNCTN CS	9.0	Α	36.0	
CS	15410	OP SYS DES	IGN & IMPL	12.0	В	36.0	
ECE	18391	NSY SGNL R	EPR PRCSG	12.0	Α	48.0	
EPP	19101	INTRO ENGR	R & PUB POL	12.0	Α	48.0	
ECO	73150	MICROECONOMICS		9.0	Α	36.0	
PHI	80311	COMPTBLTY & INCOMPNS		9.0	Α	36.0	
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS	
Semester		63.0	63.0	3.81		240.00	
Cumulative		275.0	267.0	3.96		1056.00	

### **NOTE**

As required by the Family Rights and Privacy Act of 1974, information contained on this document is confidential and may not be released to a third party.

## Srihari Seshadri :: Unofficial Academic Record as of 03 May 2011

2010 / 2011									
Fall 2010									
DPT	CRS #	COURSE TITLE	COURSE TITLE		FINAL GRADE	QUALITY POINTS			
CS ECE ECE BA ECO	15437 18240 18450 70381 73200	WEB APPLCTN DEVLPMNT STRC DES DIGTL SYSTM DIGTL WIRELESS COMM MARKETING I INTERMD MACROECONOMC		12.0 12.0 12.0 9.0 9.0	B A A B A	36.0 48.0 48.0 27.0 36.0			
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS			
Semester Cumulative		54.0 329.0	54.0 321.0	3.61 3.90		195.00 1251.00			
Spring	g 2011								
DPT	CRS #	COURSE TITLE	<b>.</b>	UNITS	FINAL GRADE	QUALITY POINTS			
MLG	10601	MACHINE LEARNING		12.0		0.0			
CS	15195	ST TECHS	COMPTN PGMG	3.0		0.0			
CS	15212	PRINCIPLES PROGRAMMG		12.0		0.0			
ECE	18551	DG CM & SIG PR SY DE		12.0		0.0			
PHY	33112	PHYSICS II SCI STDNT		12.0		0.0			
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS			
Semes	ter	0.0	0.0	0.00		0.00			
Cumulative		329.0	321.0	3.90		1251.00			

### **NOTE**

As required by the Family Rights and Privacy Act of 1974, information contained on this document is confidential and may not be released to a third party.

## Srihari Seshadri :: Unofficial Academic Record as of 03 May 2011

2011	/ 2012					
Fall 2	2011					
DPT	CRS #	COURSE TITL	E	UNITS	FINAL GRADE	QUALITY POINTS
HCI	05431	SFTWR ST	RCT US INTRF	6.0		0.0
HCI	05433	SSUI WEB	LAB	9.0		0.0
CS	15396	TPC SCI O	F THE WEB	9.0		0.0
CS	15411	COMPILER DESIGN		12.0		0.0
BA	70453	SYSTEMS	ANAL & DESGN	9.0		0.0
		UNITS PASSED	UNITS FACTORABLE	FINAL QPA		TOTAL POINTS
Seme: Cumu						
====				=====	=====	=====

**End of Undergraduate Record** 

### NOTE

As required by the Family Rights and Privacy Act of 1974, information contained on this document is confidential and may not be released to a third party.